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Tension Practice Problems — Hanging Masses

1. Two masses are connected to each other through a pulley. The lafger mass is 1.8 kg

and the smaller mass is 1.2 kg.
a. What is the acceleration of the masses? N ‘\: 1
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2. Two masses are connected to each other through a pulley If m; = 6.2 kg and m, = 9.3 kg:
a. What is the acceleration?
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= 3. Two masses are connected to each other through a pulley If m; = 1.8 kg and m; = 0.50 kg
a. What is the acceleration? " \ e ®
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. Two masses are connected to each other through a pulley If m; = 3.2 kg and accelerates
at 1.5 m/s” downward: S FzMa °
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